pp — bb,b — bx"

pp — Tt — t)?(l)

pp — 44,9 — 9%}

Region | Njet  Npjer Hr [GeV] H%“SS [GeV] mg = 650 GeV mg = 700 GeV mg = 1000 GeV
Mo = 1GeV Myo = = 50GeV Myo = = 100 GeV
1 3+ 0 500+ 500+ 45 62 +0.52 22 23 +0.54 251 04 +£3.31
2 3+ 0 1500+ 750+ 1.66 +0.11 0.76 £0.11 27.58 +£1.07
3 5+ 0 500+ 500+ 12.36 £ 0.24 14.20 £0.38 7795+ 1.69
4 5+ 0 1500+ 750+ 0.79 +£0.07 0.54 +0.08 13.15 £ 0.68
5 9+ 0 1500+ 750+ 0.03 £ 0.01 0.10 £0.02 0.46 +0.10
6 3+ 2+ 500+ 500+ 57.56 + 0.59 35.56 + 0.67 5.54+0.18
7 3+ 1+ 750+ 750+ 16.88 £ 0.38 8.13+0.37 23.52 +0.51
8 5+ 3+ 500+ 500+ 2.77 +0.09 495+0.16 0.30 £0.03
9 5+ 2+ 1500+ 750+ 0.76 +0.06 0.84 +0.09 0.52 £0.05
10 9+ 3+ 750+ 750+ 0.03 +0.01 0.13+0.03 0.02 £0.01
11 7+ 1+ 300+ 300+ 21.39 +£0.35 55.58 £ 0.84 8.17+£0.31
12 5+ 1+ 750+ 750+ 726 £0.23 6.02 +£0.29 10.49 £ 0.35




